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TAB501
Rock around the clock D2-3 D2-3 D23 D23 D2-3 D2-3 D2-3 D2-3 D23 D23 L1 Rock around the clock
See you later alligator V4 D2-3 V1D2-3 V5 D2-3 V5 D2-3 V1D2-3 V2 D2-3 V2 D2-3 V5 D2-3 V2D2-3 L2 V1D2-3 See you later alligator
Shake, rattle and roll V4 D2-3 V2 D2-3 V4 D2-3 V4 D2-3 V2D2-3 V3 D2-3 V3 D2-3 V3 D2-3 V3 D2-3 L1 V2 D23 Shake, rattle and roll
Jailhouse rock v2 va L1 Jailhouse rock
Johnny B Good V1D2-3 V5 D2-3 L1 V4 D2-3 V5 D2-3 V4 D2-3 Va4 D2-3 V5 D2-3 V5 D2-3 V1D2-3 V1D2-3 Johnny B Good
Hound dog V1D2-3 V3 D2-3 V2 D2-3 V3 D2-3 V2 D2-3 V2 D2-3 V3 D2-3 L2 V3 D2-3 V1D2-3 V1D2-3 L1 Hound dog
Rockin Robbin V3 D2-3 L1 V5 D2-3 V4 D2-3 V4 D2-3 V5 D2-3 V6 D2-3 V6 D2-3 V3 D23 V2 D23 Rockin Robbin
TAB601
| want to hold your hand va4 v3 V5 V5 L2 | want to hold your hand
A hard day's night v3 va Vs w2 Vs A hard day's night
She loves you v3 va4 L2 V5 V5 She loves you
I saw her standing there 16 Vi vi | saw her standing there
TAB604
Que je t'aime u 12 Que je taime.
Love hurts) 3 L4 L5 Love hurts
TAB603
Piece of my heart V2 v3 va Vi V5 V2 L1 V6 va va v3 V5 v3 V6 v2 V1 Piece of my heart
Me and Bobby McGee V2 V5 V6 V2 V6 V2 L1 V6 V5 V5 V5 V6 V5 V5 v2 V2 Me and Bobby McGee
TAB701
Crazy on you 11 Crazy on you
Babe Vs H v2 va v | H Babe
Time V1 va V2 V4 V2 v3 V2 V3 V5 V5 L1 Time
TAB702
Somebody to love L2 V4 D1-2-3 V5 D1-2-3 V6 D1-2-3 V2D1-2-3 V1 V1D1-2-3 L3 V1 Somebody to love
Ce soir on danse 3 Naziland | __D4-56 D457 D457 D457 va D456 D457 D456 va V6 Vs Vs D457 V6 D456 | | oase Ce soir on danse & Naziland
Don't stop believing| L1-12 D15 V2 D8-10-14 V4 D8-9-13 V6 D8-11-13 V3 D8-10-12 V4 D8-9-12 V3 D8-11-13 V7 DD8-11-13 V5 DD8-9-12 V5 D8-9-13 V4 D8-11-13 V3 D8-10-14 V8 D8-9-12 V6 D8-9-14 V8 D8-10-14 V6 D8-10-14 V6 D8-9-14 V7 D8-10-14 V5 D8-11-12 V4 D8-10-14 V3 D8-11-13 V2 D8-9-12 L3 D15 V1 D8-10-12 V1D8-9-12 V1D8-11-12 Don't stop believing
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TAB802
Who's Crying Now V3 D2 V3 D2 V5 D2 13 V5 D2 Who's Crying Now
Sweet Child O'Mine L1 V1D2 V1D2 V1D2 Sweet Child 0'Mine
Hit Me With Your Best Shot L2 L1 V5 D2 Hit Me With Your Best Shot
You Shook Me Al Night Long 12 11 You Shook Me All Night Long
Jump V6 D2 V3 D2 V4 D2 V5 D2 V2 D2 2 V1D1 Jump
Thunderstruck 13 Va4 V3 V1 V2 V1 V1 Thunderstruck
Summer Of '69 V4 L3 Summer Of '69
Any Way You Want It V3 V3 L1 V6 V2 V4 V4 V6 V5 V2 V2 V3 V5 L3 V1 V1 Any Way You Want It
We Built This City / We're Not Gonna Take It V3 V3 V2 V6 V2 V4 V4 V6 V1 V2 Vi V3 V5 V5 va V1 We Built This City / We're Not Gonna Take It
TAB901
Nothing else matters 12 2 Nothing else matters
Here Without You 3 V3 D3 V1D3 Here Without You
Don't Speak| 13 V5 D3 Don't Speak
Wind Of Change L4 Wind Of Change
Don't Speak’ 13 V5 D3 Don't Speak
Wind Of Change V4 D3 V203 V5 D3 V2 D3 V3 D3 V5 D3 V1D3 L4 V1D3 Wind Of Change
Ironic| L2 L1 Ironic
More than words (début) - V2 More than words (début)
More Than Words / Heaven Vv2D3 Vv4D3 V5D3 v2D3 V5D3 v2D3 v4D3 v4D3 v2D3 v4D3 V5 D3 V5D3 v4D3 v2D3 L3 More Than Words / Heaven
TAB1099 RAPPEL 2 TAB1099 RAPPEL 2
1108 c2p8 C3D8 caDs c2D8 c2D8 c2D8 C3D8 C3D8 V5 D8 C3D8 208 V6 D8 c3D8 caps caps caps c2D8 3p8 V3 D8 caps caps V1D8 c1p8 c1D8 c1D8 c1Dp8 c1Dp8 Bohemian rhapsody
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